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Instruction: (1) Attempt all Questions.
(2) Assume suitable data if necessary.
(3) Figure to right indicates full Marks.
(4) Question: 3 in Section 1 and Question 6 in section 2 are compulsory

(5) Start new Questions on New Page.
(6) Use Hydrostatic particular for Ship “A” where needed.

Section — I

Que.—1) A ship 120 m long and 9100 tonne displacement floats at a even keel draught of 6.50 m
in fresh water of 1.000 t/m>. MCTC 130 tonne m. TPC in sea water 16.5 , LCB 2.30 m forward of
the midships LCF 0.6 m aft of midships. Calculate the new draughts if the vessel moves into
sea water of 1.024 t/m’ without change in displacement?
OR

Que.-1) Explain free surface effect? What is affected due to F.S.E and in what way? Steps to be taken to

Avoid F.S.E? Explain how angle of loll will be tackled by example with drawing? 12
Que.-2) Give the precautions for dry-docking the vessel from the point of view of stability of ship
Explain “P” force and when the effect of the P_force on the ship is maximum and minimum, give
11

the formula for P force Calculation ?
OR
Que.-2) Displacement 5600 t, GM 0.5 m Initial Draughts F: 3.20 m A: 4.40 m MCTC 140 LCF 64 m Foap
The KM for the initial true mean draught is 8.20 m and for the true mean draught at the time of
11

Critical instant is 8.28 m. Calculate the effective GM at the critical instant.

Que.-3) ship “A” Floating on an even keel draught of 8.00 m in salt water, LBP — 140.0 m the following

llll)t{,g:f: _1,&’JF2,_



Discharged 1550 tons at position Leg 80.0 m Foap

Calculate final draughts in salt water at completion of cargo 12
Section — II
Que.—4) Define following 12
a) Laws of floatation d) Reserve buoyancy
b) Fresh water allowance e) Coefficient of Forms
¢) Inclining experiment f) Angle of Loll

OR ;
@

Que.—4) Define following 12-

a) Rightening lever ) Douck water allowance

b) Floodable length curves ¢) Effect of Adding and removing Masses

¢) Wetted surface area f) Free surface effect

 Que.—5) Light Displacement: 5000t, KG 8.20m Summer Displacement:18500¢. The vessel is 1

loaded as follows:
9100 t cargo KG 8.40 m
1870 t cargo KG 7.80 m

1100 t cargo KG 9.22 m

- 195 t fuel KG 5.90 m, free surface moment caiused 1800 tm, Investiggte the effect of filling
the double bottom tanks, Kg 0.5m with ballasi which brings the vess%l to load displacement.

OR

Que.-5) Displacement 20000 tons, LBP 170m, KM 9.30 m, KG 7.82 m, MCTC 290, TPC 50

Draughts F: 9.25 m A: 10.25 m LCF 85 m Foap

Calculate a) the GM at the instant the vessel takes blocks fore and aft?

b) the draughts fore and aft at the same instant. bl
e area of 7m?, and when towed in {resh water at

Que.~6) A 6m model of a ship has a wetted surfac
léulate the effective power of the ship, 120 m long,

3 knots, has a total resistance of 35 N. Ca

at its corresponding speed. 0 = 1.825: [ from formula: SCF=1.15. 12
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(This Worksheer must be returned with your answer book)

HYDROSTATIC PARTICULARS ‘A’
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! ‘ THESE HYDROSTATIC PARTICULARS HAVE BEEN DEVELOPED WITH THE
VESSEL FLOATING ON EVEN KEEL
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